Adv Alg - Exponential Functions Name
Mare application problems

1. The amount in trillions of cubic feet of natural gas consured in the United Stares from 1940 to 1970 can
be modeled by the function y=a(207) , where 7is the number of years since 1940.
(a) Assuming 2.91 trillion cubic feet of natural gas was consumed m ‘rhe US m 1940 estimate how many
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(b) Predict the natural gas usage for 2012,
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2. From 1971 to 1995, the average humber of transistors on a computer chip can be modeled by the function
Y =a(159) , where t represents the number of years since 1971.
(a) Assuming there was an average of 2300 transistors per chip in 1971, estimate the number of
transistors on each chip in 1998. 97
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3. Connor the contractor likes to buy houses, remodel them, live in them far a while and then sell the house
and buy arother one. Seven and a half years ago, he paid $137,000 for the house he now lives in. During that

time, house values have appreciated according to the model y =a(1.024)" where a is the initial value and 1 is

time in years.
(a) How much is his house worth now? T }
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(b) Connor decides to use d real estate agent Yo sell the house. He must pay the agent a commission of
3.5% of the selling price of the house. Connor has found a buyer willing to pay $173,900 for the house.
After the real es‘rm‘e agznt is paid, how much profit will Connor make on the sale of the house?
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J 4. Since 1972 the US Fish and Wildlife Service has kept a hs’r of endangered spécies in the Unn‘ad States. In

1972 there were 119 species on the endangered list, For the years from 1972 to 1998, the number of species
on the list can be modeled by the equation y = ae?®”" where tis the number of yzars gince 1972.
Estimate the number of species on the endangered list at the present time. - 20\ g - T o = ""%‘;f
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5. One hundred grams of radium is stored in a container. The amount (in grams) of radium present after f
years can be modeled by the function y = ae®%*  How much of the radium will be present after 10,000
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6. Theareaof a wmmd decreases exponentially with time. The area of a wound after # days can be modeled
by the function y = ae®®" . If the initial wound area is 4 square centimeters, how much of the wound area is
present after 14 days?
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7. Little Susie is 11 years old today.
Her parents want to begin a savings account to help pay Susie's college expenses. So, as a birthday giff,
Susie's parents open a savings account for her with $5725 at a bank that compounds interest monthly at an
inferest rate of 1 ~%
Susie's gmndpar'en'rs opened a college savings account for her on the day she was born. They invested $250 in
ah account that compounds interest continuously at a rate of 25%.
Susie will begin college on her 18" birthday.

(a) How much money will be in the account her parents established for her?
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(b) How much money will be in the account her gmndparen*rs established for her?
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8. Two brothers won $16,000 in the lottery and decided to split the money evenly.
Tohn invested $4000 at an rate of 2% compounded continuously at one bank and $4000 at another bank that
paid 3% interest compounded weekly.
James invested 75% of his share af a bank that pays 2 % compounded continuously and the rest at a bank
paying 3 $% compounded quarferly.

(@) At the end of 2 years, how much money will J ohn hcxve 52¢R)
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(b) AY the end of the 2 years, how much money will Jamez have?
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